RD SHARMA
Solutions
Class 7 Maths

Chapter 6
Ex 6.2



Q1. Using laws of exponents, simplify and write the answer in exponential form
()23 x 2+ x 2

(i) 52+ 5°

(iii) (7%)°

(v) (3% =31

w37 x2’

i) (53 = 517y x 57

Sol:

()23 x 24 x 2°

We know that, a™ + a" + aP = a™™*p

So, 23 x 24 x 95 = 3t4+5
_ 212

(i) 5+ 5°

We know that, a™ —a" =a™ "

So. 52+ 53 = 5123

-5°

(iii) (7%)?

We know that, (a™)" = a™

So, (72)3 =7006)

=7°

(iv) (3% + 3

We know that, a™ = a" = a™ ™" and (a™)" = aM"

So, (3%)° +3*=3'0+3*

=3
)37 =27

We know that, (a™ x b™) = (a x b)y™

S0.3” x27=(3 x2)7

=6’

(vi) (521 = 513) x 57

We know that, a™ = a" = a™ ™ and(a™ x a") = ()™
So, (53! = 51%) x 57 = (5217 13) x §7

SRCREES

Q2. Simplify and express each of the following in exponential form
M (@) x2%+2"
(ii) (8% x 8%) = 8°

57 3
(iiii) (?) x5



4xlOys

) ()
Sol:
M (2 x2%)=2"

= (212 x 28) + 212

— 21248 . 912
= 220 . 212
— 020-12
=28

(i) (8% x 8% + §°
= 82+4 . 83
= 86 83
= 86—3
=g (or)
=> 28

7 -
(iii) (%) x 5%
=572 x5
- 55 « 53
= 55+3

= 58

54
(i) (=—— 5 X7;4 )
= 57 51077 x5
— 59 % 3 x yl
=1X X3 Xy

= x3y

Q3. Simplify and express each of the following in exponential form
@) ((3?) % 2%) x 5°

(i) (2)'2 <y x (2%)

(i) (3)° (37

) (3)° < (3)

Sol:

(3% <27 % 5°

= (3% x 20) x 5°

= 6% % 5°

=>30°

(if) ()12 y24x (29!

_>( y24 x 212

=>x12 x y24-12 y12

=>x12 x y12 X 212



= (2xy)"?

(i) (3)° % (3)?

We know that, (@™ x a") = (a)™™
Herea= 3

=( % )2

=(3)°

() (5 % (3)°

We know that, (@™ x b™) = (a x b)™
- (% x %)5

=3y

Q4. Write 9 X9 X9 X9 %9 in exponential form with base 3

Sol:
9 %9 x9 x9 x9 = (9)° =(3%)°

=310

Q5. Simplify and write each of the following in exponential form
@257 5
(i) (81) = (3%

98 x(x2)’

W Ty

32578136
(@1x(91)?

(i)
Sol:
(i) (25 +5°

= (577 =5’
5053

— 563

-5

(i) (81)° + (3%)°
=@ =G
—- 320 310

— 320-10

=310

L9y

W ey

- (32)8X(X2)5
By
316410

312xx6

— 316712 (106

=3*xx?

=(3x)"



3278136
(V) =————
@191y
327270 x(13)6
(212x(13x7)

(21)2x7°%(13)°
(21)2<(13)3<(7)3

70%(13)°
(13)3(7)3

o1t
913

- (9 1 )6—3

==

=91y’

Q6. Simplify
@) (35)11 x (315)4_(35)18 % (35)5

16%(2)+1—4x2n
16%(2)12-2x(2)12

(ii)

e 10%(5)™ 255"

i) = SrrioGr

@) (16)7x(25)°x(81)}
(15)7x(24)x(80)°

Sol:

M) )M = (3P)-(3)"8 < (37

- 355 x 360_390 x 325

= 3(55+60)_ 3(90+25)

— 3(115)_3(115)

=

N 16%(2)" 1—4x2"
(i) ;) )
16x(2)"2-2x(2)"

24y 1)_p2,on
94y p(2)_pntl 52

225320
92 (=201

ony3_pn
27x212"x2
2823-1)
27(2%-1)

= L

16-2
7

4
1
= =
2
10%(5) 14255
(i) ———m———
3X(3)r 2+ 10%(3)m ]

105 D4 52550
3><5“‘+2)+(2x5)x5(“+1)

10x50 D1 5501
3x5 ) 4(2x5) 50D

50D(10+5)
5 D(10+15)



(16)"%(25)°x(81)°
(V) 5y ay~soy

CORERIED)
(3%5)7%(3%8)5%(16x5)3

(16)7 (5%’ x(3*)’

T TGI8 1655
(16)7(5%)%<(3*)}
RN

(16)7

8°x16°

(16)7—3

85

(16)'
85

@8y
8>

248

Q7. Find the values of n in each of the following
(i) 52 x 5% =511

(ii) 9 x 3" =37

(iii) 8 X 22 =32

) 7" - 49=7

® () x (3 = (3!
W) ()< () =37
Sol:

(i) 5% x 53 =511

— 52nt3 — 511

Equating the powers
=>2n+3=11
=>2n=11-3

=> 2n=238§

=>n=4

(i) 9 x 3" =37

=32 x30=37

32 = 37

Equating the powers
=2+n=7

= n=7-2

=> n =5

(iii) 8 x 2™2 =32

23 o2 _ oS

=5 932 _ 55

= 2n+5 — 25



Equating the powers
=>n+5=5
=>n=0

(i) 7" < 49=7
gl g2 3
oo 712 _ g3
gl _ 3

Equating the powers

=2n—-1=3
=>2n=4
=>n=2

3 3 3
W () (5P =5
3 _ (3
=S (7)(4+5) = (7)(2n+1)
Equating the powers
=>4+5=2n+1
=>2n+1=9
=>2n=28
=n=4
) 3 2 \2n—
o) ()P =37

— (%)10 X (%)10 - (%)Zn—z

=203 2y
30 50 3

)

=>1= 3@ 2)

=>3(2n-2)=2(2n-2)
=>6n-6=4n-4
=>6n—-4n=6-4
=>2n=2

==>n=1

9"x32x30(27) 1
= ==, find the value of n

Q8. If Gy T

Sol:

9"x32x3"(27)1 1
(3323 27

o Gmatater g

7
. 3(@n+2tn)_33n _ 1
35558 27
. 3(n+2)_33n _ 1
. 390,32 3% _ 1
31543 27

33n(32_1
RGN

315,93 27

37(9-1
RTINS

315,03 27
L 3M®

35,53 27



On equating the coefficient

3n—-15=-3
3n=-3+15
3n=12

n=4



